
Theme: GAME THEORY 

Task 1.  

1) Determine the lower and the upper prices of the game and existence of a saddle point for 

given payoff matrices. 

2) Solve matrix games of size 2x2 using the analytical method. 
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Task 2.  

1) Determine the lower and the upper prices of the game and existence of a saddle point for 

given payoff matrices. 

2) Simplify these matrices and exclude unprofitable strategies. 
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Simplify matrices, calculate the lower price and the upper price and find the optimal 

solution of the game and the game price: 

Task 3   

3 1 4 5

4 3 5 7
;

2 1 3 3

5 5 4 3

A

 
 
 
 
 
       

Task 4   

2 3 1 4

4 3 4 5
;

3 2 1 4

5 4 1 6

A

 
 
 
 
 
    

Task 5  

4 1 3 2

4 2 4 3
;

5 2 4 4

1 4 7 5

A

 
 
 
 
 
            

Task 6  

1 2 1 2

2 2 3 3
;

0 1 2 3

5 1 2 3

A

 
 
 
 
 
     

 

Task 7  

1 1 2 2

2 3 3 4
.

0 2 1 3

5 2 3 5

A

 
 
 
 
 
      

Task 8  





















4135

3240

2123

4021

П

   

Task 9  























145475

156984

126571

        Task 10 















 



44623

73136

53214

  

Task 11 





















3042

2236

3125

П     Task 12 





















0134

3421

2320

3421

П  

 

Task 13 



















2314

3521

4102

П   

 

The payoff matrices are given. Solve the matrix game by the graphical method, find the 

optimal strategies and the game price. 
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